Helel CTET /| STET 2023
(ENGLISH] Bty W
UP TET PAPER |
DISCUSSION
fﬁ‘@?ﬁu‘&mﬁ@wmﬁ%aﬂm

CTET /STET &1 @4l uﬁwaﬁ%a:rqa?vﬂ
EATR TOPIC EXPERT & &I F.-

BY ENGLISH GURU (@) 06:00 PM




/\  §P79ToT CTET / STET 2023

1. Which of the options correctly attributes the
underlined word? (BASED ON UPTET-2021)

A support team offered a satisfying response to
our queries.

A. Adverb
B. Verb

C. Participle
D. Gerund

Ex: | saw a burning train.

There was a falling tree.
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1. Which of the options correctly attributes the
underlined word?

A support team offered a satisfying response to
our queries.

A. Adverb
B. Verb

C. Participle
D. Gerund



2. Find the incorrectly spelt word.

(BASED ON UPTET-2021)

A. Recommend
B. Alluminium
C. Cemetery

D. Satellite



2. Find the incorrectly spelt word.

A. Recommend

B. Alluminium
C. Cemetery
D. Satellite
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3. What is the synonym of “veracity” ?
(BASED ON UPTET-2021)
(A) inaccuracy
(B) reality
(C) redundancy
(D) falsehood

Redundancy : The state of being not or no longer needed or
useful:



3. What is the synonym of “veracity” ?

(A) inaccuracy

(B) reality
(C) redundancy
(D) falsehood
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4. Find out the sentence with correct conjunction usage.
(BASED ON UPTET-2021)

(A) No sooner had | reached the station then the train left.

(B) No sooner had | reached the station than the train lefi.

(C) No sooner had | reached the station when the train left.

(D) No sooner had I reached the station and the train left.



/  FPT2TST CTET / STET 2023

4. Find out the sentence with correct conjunction usage.

(A) No sooner had | reached the station then the train left.
(B) No sooner had | reached the station than the

frain lefi.

(C) No sooner had | reached the station when the train lefi.
(D) No sooner had | reached the station and the train lefi.
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5. Choose the word which is most opposite in meaning to the
word ‘EMBRACE’

(BASED ON UPTET-2021)

(A) Contradict
(B) Disobey
(C) Reject

(D) Obscure
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5. Choose the word which is most opposite in meaning to the
word ‘EMBRACE’

(A) Contradict
(B) Disobey
(C) Reject
(D) Obscure



6. “Do away with” means: (BASED ON UPTET-2021)

A. Surrender
B. Abolish
C. Tired

D. Criticize
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6. “Do away with” means:

A. Surrender

B. Abolish
C. Tired
D. Criticize

Do away with: The town members have decided to do away
with the old lighting system.
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7. Which kind of sentence it is? (BASED ON UPTET-2021)

She ate lunch but she was still hungry.

A. Simple sentence

B. Compound Sentence

C. Complex sentence

D. Compound-Complex Sentence
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1.She came late. (Simple: one independent clause)

2.She came late but she joined the class.
(Compound: two independent clauses joined by a coordinating conjunction-
FANBOYS).

3.She came late even though she started on time.
(Complex: two independent clauses joined by subordinating (other)
conjunctions or ‘wh’ words)

4. She came late and she missed the class even though she started on

time.
(Compound-Complex: clauses joined by subordinating (other) conjunctions
or ‘wh’ words & coordinating conjunction)
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7. Which kind of sentence it is?

She ate lunch but she was still hungry.

A. Simple sentence

B. Compound sentence

C. Complex sentence
D. Compound-Complex Sentence
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8. Choose the correct preposition to fill in.
(BASED ON UPTET-2021)

My sister is very good ....... chess.

A. in
B. for

C. at
D. with



My sister is very good

8. Choose the correct preposition to fill in.

A. in
B. for

C. at
D. with
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9. Choose the correct option to fill in.
(BASED ON UPTET-2021)

by his father, he left home.

A. Having scolded

B. After scolding

C. Having been scolded
D. While scolding



/\  §P79ToT CTET / STET 2023

9. Choose the correct option to fill in.

by his father, he left home.

A. Having scolded
B. After scolding

C. Having been scolded
D. While scolding
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10. Choose the correct figure of speech.
(BASED ON UPTET-2021)

| am a deeply superficial person.

A. Metaphor
B. Oxymoron
C. Hyperbole
D. Alliteration
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10. Choose the correct figure of speech.
| am a deeply superficial person.

A. Metaphor

B. Oxymoron
C. Hyperbole
D. Alliteration



(BASED ON UPPET-2021)
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11. Given helow are four jumbled sentences. Out of the given options pick

the one that gives their correct order.

A. Baskets and carts flooded the street turning it into a mobile market.

B. Hearing their cries people with bags started coming out from their
houses.

C. Suddenly a street came alive.

D. From one end 1o the other cries of the vendors rent the air.

A. CADB B. ABDC C. DACB D. CBAD
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11. Given helow are four jumbled sentences. Out of the given options pick

the one that gives their correct order.

A. Baskets and carts flooded the street turning it into a mobile market.

B. Hearing their cries people with bags started coming out from their
houses.

C. Suddenly a street came alive.

D. From one end 1o the other cries of the vendors rent the air.

A. CADB B. ABDC C. DACB D. CBAD



12. Which of the following words is an adverb?
(BASED ON UPTET-2021)

A. Miserly
B. Seldom

C. Closure
D. Meek



12. Which of the following words is an adverb?

A. Miserly
B. Seldom

C. Closure
D. Meek quiet, gentle
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13. Choose the meaning of the proverb.

(BASED ON UPTET-2021)
Look hefore you leap

A. Think before you act.
B. Look and then jump.

C. Jumping is good exercise
D. Looking is important
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13. Choose the meaning of the proverb.

Look before you leap

A. Think before you act
B. Look and then jump

C. Jumping is good exercise
D. Looking is important
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14. Choose one word substitution for the sentence:

(BASED ON UPTET-2021)
The study of grasshoppers and locusts.

A. Acridology
B. Chronology
C. Dendrology
D. Enigmatology
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14. Choose one word substitution for the sentence:
The study of grasshoppers and locusts.

A. Acridology
B. Chronology
C. Dendrology
D. Enigmatology the scientific study of trees.

the study of puzzles.
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15. Choose the appropriate indirect speech of the direct

speech. (BASED ON UPTET-2021)

| shall say again, "You stole Hari' s book.*

A. | said again that he stole hari' s book.
B. | will say again that you stole hari' s book.

C. | shall say again that you stole hari’ s book.
D. None of the above
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15. Choose the appropriate indirect speech of the direct
speech.

| shall say again, "You stole Hari' s book.*

A. | said again that he stole Hari' s book.
B. | will say again that you stole Hari' s book.

C. | shall say again that you stole Hari' s book.
D. None of the above



/\ fPI2ToT CTET / STET 2023

16. Which of the following sentences is the example of

‘metaphor’? (BASED ON UPTET-2021)

A. Opportunity knocked at his/her door.

B. She is the apple of my eye.

C. His response was as cold as ice.

D. This is another fine mess you have got us into.
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16. Which of the following sentences is the example of
‘metaphor’?

A. Opportunity knocked at his/her door.

B. She is the apple of my eye.

C. His response was as cold as ice.

D. This is another fine mess you have got us into.



Thank You !l



